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a.
b
c.
d.  Use the graph to find the range.

1

For each of the following,
State the type of trouble.
. Find the domain algebraically.

Sketch the graph.
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Alg2 HW 6.3

Quizzes Monday (Days 1-3) & Wednesday

when we return.
HW 6.4 Due Monday, December 2nd
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State the domain and range for the function below. Determine the intervals on
which the graph is increasing and decreasing. Find all relative minima and maxima.
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(f + 9)(x) = f(x) + 9(x) \

(f - 9)(x) = f(x) - g(x)

(f * g)(x) = f(x) * g(x) floc 1K \
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Let f(x) = 2x + 3 and g(x) Jx +x, find the following:
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Let{f(x)= x? - 4 JandJg(x) = x - 2,find the following:
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Let f(x) = 3x2 - 11x - 4 and é(x) = (3x + I)Jﬁnd each of the following:
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Let f(x) = 3x? - 11x - 4 and g(x) = (3x + 1), find each of the following:
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